BwctlScriptByTobyRodwell

#! / bi n/ bash

# This script runs a bwetl test and, concurrently runs the 'ss' (show socket conmand)
# at regular intervals during the test. It is recomended the 'ss' interval be 0.1 or
# or 0.2 (seconds)

#

# The syntax of the command are

# tcptest <target bwctl server> <length of test in sec> <'ss' frequency>

#

# The results are stored in tw files in the user's hone directory

# 1. tcp_test-<date/tine of test>-<target host name>.results

# 2. stat_changes-<date/tine of test>-<target host name>.results

#

# File 1 is alist of the 'ss' results, which can be graphed

# (wWith the use of a spreadsheet) for ease of interpretation

# File 2 shows the difference between 'netstat -s' inmediately before and after

# the bwetl test. This is particularly useful for spotting TCP retransmnissions etc

nkdi r $HOVE/ t enp

echo $1 >$HOVE/ tenp/target.tnp
echo $2 > $HOVE/tenp/test_l ength. tnp
echo $3 > $HOVE/tenp/ss_int.tnp

#BWCTL test port is 5001 by default
test _port=5001
host ="unane -n’

#This file is used to pick up just those lines fronmiss' that are related to the test-port (e.g. 5001),
adding a newine (feature of printf)

echo "/$test_port/ {printf \"%\t %\t %\t %\t %\t %\t %\t 9%\t %\t \" ,\$1, \$2, \$3, \$4, \$5,
\$7, \$8, \$9 }" > $HOVE/tenp/awk_filter.tnp

#This file is used to pick up just those lines fromiss' that are related to the test-port (e.g. 5001),
a newine (feature of print)
echo "/$test_port/ {print \$0}" > $HOMVE/ tenp/awk_filter2.tnp

test_|l ength="cat $HOWE tenp/test_length.tnp’

netstat -s > $HOVE/ tenp/stat _before.tnp

date +%y%Pe%PANE > SHOVE/ tenp/time.tnp

test_tine="cat $HOVE/tenp/tine.tnp’

# The use of brackets enabl es the runnning of concurrent sub-processes
(

test_tine="cat $HOVE/tenp/tine.tnp’

target="cat $HOVE/tenp/target.tnp’

test_|l ength="cat $HOVWE/ tenp/test_length.tnp’

test_interval =2

echo $test_time > $HOVE/ tcp_test-$test _tinme-$host.results

bwetl -c $target -t $test_length -i $test _interval >> $HOVE/ tcp_test-$test_tine-$host.results
) &

(

# Sleep interval for 'ss'

ss_int="cat $HOVE/ tenp/ss_int.tnp"

test_length="cat $HOVE/tenp/test_length.tnp

bwet | _port=5001

test_tine="cat $HOVE/tenp/tine.tnp’

echo $test_time > $HOVE/ tenp/ss.tnp

unane -a >> $HOVE/ tenp/ss.tnp

cat $HOVE/tenp/target.tnp > $HOVE/ tenp/ ss. tnp
testlterations="echo "($test_length + 10) / $ss_int" | bc’

for ((i=0; i<$testlterations; i++))

wi t hout

\ $6,

and adds



do

test Ti neNow="echo "$i * $ss_int" | bc’
echo -n $testTimeNow $'\t' >> $HOVE/ tenp/ss.tnp
[usr/sbin/ss -i | awk -f $HOVE/tenp/awk_filter.tnp >> $HOVE/ tenp/ss.tnp

echo "" >> $HOME/ tenp/ ss. tnp
sleep $ss_int
done

)

wai t

netstat -s > $HOVE/tenp/stat_after.tnp
target="cat $HOVE/tenp/target.tnp’

# Get the RTT

ping -c 3 $target >> $HOVE/tcp_test-P$test time-$host.results

# Headers for the 'ss' results

echo $ Time \'t State \'t Recv-Q\t Send-Q \t Local Socket \t Peer Socket \t RTO\t CWD \t ssthresh' >> $HOME
/tcp_test-$test_time-$host.results

# This filters out lines without '5001' on them
awk -f SHOVE/tenp/awk_filter2.tnp $HOVE/ tenp/ss.tnp>> $HOME/ tcp_test-$test _tinme-$host.results

# Display the BWCTL result
head -n 20 $HOME/ tcp_test-$test_ti me-$host.results

# Save the difference between start and end netstat stats.
di ff $HOWVE/ tenp/stat_before.tnp $HOVE/ tenp/ stat _after.tnp > $HOVE/ st at _changes- $t est _ti me- $host.results

# Tidy up
rm $HOVE/ t enp/ *. t np
rndi r $HOVE/ t enp

exit O
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